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In the name of Allah, asn ol Craa ) &) aean

the Most Gracious, the Most Merciful

Sl gyl LY Alia] suie

The mathematics practice test has
w13

13 questions.
General Instructions: sdaladl sl
oo ol Wil oo G olio Il @il albeiwd ey @
logapdl (@ dolasmiul Sy LS sate

e You must use a pencil to answer multiple-
choice questions or for drawings.

e You must use a pen to answer constructed

response questions. Al i e Y § sl @il sl oy @

* The test items are presented in English and
Arabic to help you better understand the
questions.

e Ll Laloei¥lg Ao pall carallly HLasy) Aiwd slae) @5 @
Jeadl s Lad e

e Some of the items are multiple-choice items, ) _
. . . - | a5 | -r | “ s 1 . °

and some require you to write a short answer. oo ol s o

Buad Bl e cdbny (aadlg ouaie
e Multiple-choice questions consist of four
alternative responses. Mark your answer in ) o
. E sl syl esats sdaie e LY Aiwl @

the box next to your answer choice. B ShLasl )l et sudats oo )l

el L L Al § el | wyusen o8

e Mark only one answer for each multiple-
choice item. If you want to change your
answer, completely fill in the box for the
answer you do not want. If more than one
answer is marked, or if your answer is not
clearly marked, you will not receive credit. In
the sample below, the third answer choice
will be considered the student’s response.

o ok Il IS0 Il had susly il | umn 03 @
¥ G LY e Jellaty @8 gl | add (§ culy 13] suate
13) o1 By o] oo AST dotmty i 13] ol S0 Loy
Gl e dhazes (8 sy Sy Boume il ] (S5l
el Bl o U HLas Hlael i sbal JLL
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¢ For the short-answer items you may answer in
either English or Arabic. You must write your
answers in the spaces provided in this test
book.

* You may use the blank pages at the end of this
test book to make notes or do calculations,
but you will not receive credit for anything
written on those pages.

e If you wish to change any of your short
answers, make sure it is clear what your
response is. If there are two responses or the
response is unclear, you will not receive
credit.

* Do not spend too much time on any one item.
If you find an item too difficult, do the rest of
the test and return to the difficult item later.

e Respond to all items, even if you are unsure.
You will not lose points for incorrect
responses.

* You will be given a warning at half-time and 30
minutes before finishing time. You will be
given a final warning 10 minutes before
finishing time.
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Asasal) Z\A\A?J J_g\.;d\ e).d\ JAl x Aok s daasall 4_1\;:}“ =110 ‘_A‘\ 1 u.a:\ﬁu\]\ ‘_g
For questions from 1 to 10 choose the correct answer by marking x inside the square beside the
correct answer.

fle duaa Jlaia) (158 Of OSay Al dlasY) 6 1

Which of the following numbers could be a probability of an event?

0.59

1.01

3.7

(1 0O OO O

5 (Y 1 (e Lk L) Lgda JS Jaad cllillay o g gy Godia (a Bl a3 |
-"3L.J"J:‘s‘ IIJHSL}‘&‘ "J"L’ﬁJJ"J"LfdJé" :A‘:‘Sm‘&d‘,’ﬂ‘w
fOmtlita Gt 08 puay b Laa (6]

A card is drawn from a box containing 5 cards, each of them showing a different
number from 1 to 5.

Consider the events “even”, “odd”, “less than 5” and “greater than 3”.

Which of the following are mutually exclusive events?

odd, even S>909 4S8 |:|
odd, greater than 3 3 e oSl [
even, less than 5 5 (e JAl g ‘) |:|
less than 5, greater than 3 5 dﬂ} 3 (s ‘)._\Si |:|
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Which of the following is a parameter? A M uJ:‘ Laa cﬁi 3

213 5 Al Caalle 8 3aa) s A sl Jea Cpaallad) GOl clald J) shal o s ]

The mean height of students sitting around one table in the school canteen
is1.3m.

M e sl Mg sl e eyl ) oS 5ls Ladd 95 Jual (e s e (]

Ten out of 25 people surveyed chose “red”.

B ald)l LAY b cpaalill (e 56.4% g S ]

56.4% of voters voted for the last municipal elections.

s 7 9 s el o 3850 8 TaB 50 20 (e Ll i 80 5l yae Jasus []

The median age of a car randomly selected in 20 spaces in the school car parking
lot is 7 years.

oemaad) il Ay ol Ja gyl (e g (o Laa a
Which of the following is not a condition for the binomial experiment?

Y gl pe il 2ae aa g |:|
There is a fixed number of trials.

Ml e Jadd Laaaal (liSae Glasl A glae S
Each trial has two possible outcomes, only one of which is denoted as “success.”

Alglaa S = Cull " GJL‘J\ Jlaial
The probability of “success” is the same for every trial.

I I

The trials are dependent.
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The adjacent table shows student participation in the newspaper and yearbook by
year. A student on the newspaper staff is selected at random to attend a symposium.

Llaal) ool slaei
Journalism Club Members

11 i 12 b
Grade 11 | Grade 12
ddnal)
16 9
Newspaper
§ $ad) Qlisl)
Yearbook 8 17

e A dhal) 8 Ll dajaal) ddaua B & e e 098 o Jada) La
¢ P (e A | Aiaall)
What is the probability that the selected student is in grade 12,
P(Grade 12 / Newspaper )?

|
(1 0O [

> O

A O 3 s (B e Aada (B el Jghan Juia) O () Jdell g Al fige | o
20% $A el
o pged A Adaall o b5 jhlall alSU a8 gial) axml) an
A travel website indicates that in a particular city, the probability of rain on any day
in September is 20%.
Find the expected number of rainy days in this city during September.

OO O
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il A5 = 1 8 Lads a3 55 Ao gall il (g A sanal (obaaad) Jaa gl oS 13)
.0 =015 gl
ox = 0.7 by dagdl 7 4 jlmall da )2 2a g
oAV a3 1Y) e e £ 50 @AY dila) L jda)
If a data set is normally distributed with a mean of u=1and a standard deviation of

o = 0.15. Find the z-score for a data value of x = 0.7 .
(Round your answer to the nearest hundredth if it is necessary).

2 []
-055 [ ]
055 [ ]

2 []

e JLEA) A3 (D) e Adlid ghlia A L) pdie clddioid) (e d3e LA 6 5a

u&ﬁu.adsgéﬁbbﬂ\
fAial) MY Aaaiewal) 48 ) Le

A few hospitals around the country were randomly chosen. Within each hospital, all
the nurses were chosen.
What sampling method is used?

Convenience sampling A yall Ay Hhal)

Systematic sampling dalatial) 45y Hhal)

Cluster sampling 300 8l 45y Hhal)

(1 0O OO O

Stratified sampling Lahl) 45y Hhl)
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LS 11 325 Al (0 i g 055 4 s iy o CSa sk o | g
In how many ways can a student choose 4 books at random from a list of 11 books?

a4 [ ]
330 [ |
7920 [ ]
47520 | ]

4y i) de ganal Gl Al Aad L
What is the third quartile of the following data set?
19, 26, 28, 32, 34, 42, 44, 50, 55, 60

10

28

38

39

(1 0O O O

50

End of the multiple-choice questions dae g gl ALY gl
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dall sl a6 s dlad Gacadall £l L elida) S) 13 ) 11 0 ALY oo el aie
For questions 11 through 13, write your answers in the spaces provided, and show your work.

:\eﬁ 15 1

A
N al Alas) Jigw Jiad (AY) Jigedl QS I L 2as g
a. Determine whether the following question is a statistical question or not.
95 pildall 58 af ALud) 38 af cadll) 5 S selins e DUl Sludal JiSY) Ay )i L
What is your school's students most favorite sports: football, basketball or volleyball?

Answer: ;3\.314‘;’\

2

&> sland D S8 cla JLEAY jdaaill ciual) o3l Lgasy A 3ok 48 ma b 20 b

O i A dal cpe il a3 9aka A Lgaua g g Alilaia 48 ) 5 Claluad Lo 4 )
AN el Lgantly A Ayl (8 damsd i) Ja ) S s (L) sl slandd)

b. Bilal wants to know how his classmates prepare for a test. Bilal placed the names of his
classmates by identical pieces of paper into a box. To determine who he would ask about
their study habits, he asked a classmate to draw names at random from the box.

What is the population? 4 jal) aaina La
Answer: :‘1:’1%1‘

e daali Alglaall 3 &l 0 5 <6 (M) 1 (10 pd pa aliile CmSa o) Al (i I3 a0 A c
4 O pSi s o Jgand)
A gia dand B ) dlila) B Soiaall il glaa (8a% Jladal L
C. In a binomial experiment, a regular cube numbered 1 to 6, is rolled 5 times.
Success is defined as getting a number greater than 4.
What is the probability of getting exactly 2 successes? Round your answer to the
nearest percent.

Show your work. Jad) &l ghd mua g
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B. Suppose a civil engineer wants to conduct a survey to find out if residents of a city would
be in favor of widening one of the city’s roadways for increased traffic flow.

Afiaa glaa JS pgles ) Gahal) 138 (larion (ull) GASad) (e B3gALe A (585 0 .2
s geda g o ) acinal

a. Would a sample consisting of residents who utilize that roadway to travel to work each
morning be representative of the population? Explain your answer.

Answer: Ay
> | Explanation: e gl

i) g g Pl ) aaiaal Aias Aaall 8 kel Sl ¢ Ll gie 33 gaka de (80 A b

b. Would a random sample of homeowners in the city be representative of the population?
Explain your answer.

Answer: Ay
> | Explanation: e gl
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oliaj IS ) ga Glly 4s gana Cuadl C
C. A set of data are summarized in the histogram below.

al)

Frequency J‘

0 [

1 2 3 4 5 6 7 8 9
Data values Cililud) a8

Lmda a5 55 ccppanl) g Lsila ol ¢ Jlead) dga Ty gile il g 368 S 13 e 2a g

a. Determine if the data is left skewed, right skewed, or normally distributed.

Answer: Ay
2
felb) ds ganal Juadt) el g 43S jall Ao 3l (unlia La b
b. What are the best measures of center and spread of the set of data?
Answer: Ay
2
17 oo 11 A il %
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Y ol Y pead) o gia Ly i L £ 5 90 ol jlaad) i jUal £ 930 aaY ol 58N sand) A
J 0 =8000 g kel ) ai¥l g daa p = 60000 2 5 Ll

13 bad) Jac gl A o BY) Al (e 68% A anly (oA Apida) 3B jlacY) ad s3a La
) JUaY) (1 £ 4i)

A. The lifespan of a certain brand of car tires is approximately normally distributed.

The car tires have a mean lifespan of u = 60 000 miles and a standard deviation of
o = 8 000 miles.

What range of car tire lifespan contains the 68% closest to the mean?

Show your work. Jall @l ghd i g

ALY (e IS & gan Auila) O ula i) ) ggd) LB 1 (ha JgW) a0 LA o il pdie 4 a0 0 g5 LB
ki 2 9 A0 (e

B. A randomized experience to choose the first digit of phone numbers. Suppose that the
probability of occurrence of each of the digits 0 to 9 is the same.

a. Find the sample space. Adall glad aa gl g
2 Answer: ;K.;le\;\

(90 ady Lo sl Judal sl b

b. Find the probability of getting an even digit.

Answer: Ay
2
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il 50 ey b Abad) 88 Al B Alaay (10 40% Ok 280 £le ) o Sl Jrdia 1)) LC
Al glaa 50 (e Tl 455 Aga ) 17 S 40 225 481 Ladis
bl e Al g ddie il BlSlaad A pdie ae) Al ga Jrdia Jariad
C. Mishaal wants proof of Rashid's claim that he is a 40% three-point shooter in basketball.

He observes him make 17 out of 50 three-point shots. Mishaal used a random number
generator to simulate the outcome of a random sample of shots .

16 22 53 51 62 81 69 68 59 29
69 71 29 83 79 34 67 21 64 50
30 79 68 94 33 24 6 28 91 59
33 59 42 89 13 56 15 6 75 97
83 6 89 55 39 61 69 17 20 89

daalill AN cila )l Jfiadl Lglariod 48 3N SaeY) L g

a. What numbers could you use to represent successful three-point shots?

Answer: :‘1:’1%1‘

fdaalill e A5 cilaa ) Sl Lglariug 3 31 Y L b
b. What numbers could you use to represent missed three-point shots?

Answer: :‘1:’1%1‘

L) g 3l gall JacY) (pa Aaalill cilia M dsi L ¢
A ¢b3géh:gugé&3¢h.gu@bgei
C. What proportion of the random numbers generated were successful?
Explain what this means regarding Rashid's claim?

Show your work. Jad) &l ghd muia g
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Lo aa Legd (sduali £ Ja IS (il 8N Aaf Fadad adll) 3 SEB) b A LA
0.8 ssbes #10n A JS (e BB oD 130 i Jaliad ) ia )
A. During a football match, a striker is called in twice to kick a penalty.
Suppose that for each attempt, the probability that he will score the penalty is 0.8

Soiiad) A cr cdaa e Ja of JWial L g
a. What is the probability that he will score both penalty goals?
Show your work. Jall @l ghad g

Soiiadl AlS, (e i ol oM Jaud Y o) JWial L b

b. What is the probability that he will score neither penalty goal?
Show your work. Jall @l glad as
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Lapali Lo aglla S ) duny alal) Cal) ciliylss s3a) B clllla 59 w3l 4 &Ly B
il e IS (g adl andl qul 5 LA ol g (lilid
B. 4 male students and 5 female students participate in a scientific research competition,

whereby each of them presents a different presentation, and the order in which
presentations are presented is chosen at random.

edlall (ha (S ldia 3 J gl JLEA) (Sa) Adlida 48 )k oS g
a. In how many different ways can the first 3 presenters are male students?

Show your work. Jall @l ghd g

elallal) (ha a1 & el g M) (ha (S jldia 3 J gl JLA (Sa) Adlida A5y 5k o b

b. In how many different ways can the first 3 presenters be male students and
the fourth presenter be a female student?

Show your work. Jall @l ghd mua g
2
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C. The identical cards below where three are grey and four are white.

w2 W5 w4 G3 G2 w3 G4

"335)3\@33&9‘,\;“" &.\AJ\TJL:J"%JLAJHLEQQM" &M\Gdﬁé

Let G represent the event “select a grey card” and T represent the event
“select a card with a 3”.
. P(GsT) 5 .a
a. Find P(Gand T)

Answer: Ay

Yol (pliis Ty G Glasdl (s 13 La ¢ Wb
b. State whether the two events G and T are independent or not.

Explain your answer i) G"‘J
4
End of All Questions Ay & Gighil
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